


01 02



03 04



Discharge operation instructions

Display interface description

点击“Menu”,进入主菜单界面。此界面为操作通道，
可进入‘设置’，‘单体信息’，‘版本信息’几个界面。

启动开关用于电池启动，蜂鸣器用于报警提示

Main menu interface Click "Menu" to enter the main menu interface. This 
interface is the operation channel. You can enter 'Settings', 'Individual 
Information' and 'Version Information'.

The start switch is used to start the battery
buzzer for low SOC alarm & errors warning

点击“CELL INF”进入界面（不可修改）。本界面可查看
1，2模块所有单只电芯实时电压及温度（每个模块包含最
大12串电芯电压采集点及2个温度采集点）。

Click on the main menu, then click on "CELL INF" to enter the interface
 (not modifiable). This interface can view the real-time voltage and
 temperature of all the individual cells in modules 1 and 2 (each module 
contains a maximum of 12 strings of cell voltage collection points and 2 
temperature collection points).

点击“主菜单”，再点击“SETWP”,进入屏保密码界面，输入密码
“8888”可进入参数设置界面。本界面可以修改内部参数设定。即实
际容量值，充放电保护触发电压，报警触发电压，检测电流校正值，
最大充电电流，报警温度，模块串口数等。

Data setting interface Click "Main Menu", then click "SETWP" to enter the screen 
saver password interface, enter the password "8888" to enter the parameter 
setting interface. This interface can modify the internal parameter settings. 
That is, the actual capacity value, charge/discharge protection trigger voltage, 
alarm trigger voltage, detection current correction value, maximum charge current, 
alarm temperature, module serial number, etc.

注：此界面均为可调数值，此数值为出厂特定设定。如现场使用中
需要对个别参数做匹配调整，请联系厂家专业技术人员确认。

Note: This interface are adjustable values, this value is factory specific settings. 
If you need to make matching adjustments to individual parameters in field use, 
please contact the factory professional technicians for confirmation.

版本界面  先点击“主菜单”，再点击“VERION”，进入版本
信息界面（不可修改）。显示程序版本信息及放电时间统计数据。

Version interface Click "Main Menu" first, then click "VERION" to enter the 
version information interface (cannot be modified). The program version 
information and discharge time statistics are displayed.



1.10 如何紧固叉车电池内部螺丝
        How to tighten the internal screws of the forklift battery

拿掉螺丝，打开检修窗
Remove the screws and open the access window
1 拆除BMS上面的连接线束

Remove the wiring harness above the BMS 
2

拆除动力线并缠上绝缘胶布,移除上盖
Remove power line and wrap insulation tape, remove top 
cover

3

用13N*m紧固模组上的螺丝和螺杆
Tighten the screws and bolts on the module with 13N*m
5 复位PDU与线束，并用10N*m紧固PDU上的螺

丝，盖上盖子，用7N*m紧固盖子上的螺丝。
Reset the PDU and cable harness, tighten the screws on the 
PDU with 10N*m, and close the cover with 7N*m.  

6

拆掉PDU的螺丝并移走PDU
Remove the screws on the PDU and remove the PDU

2

各种型号螺钉（全直径）
Screws Of Various Model (Full Diameter Of Thread)

型号/ Model 转矩范围/Torque range 
M2*8 self-drilling screws

M3*5 philips bolts with nut and washer

M3*12 inner hex pan head bolts

M4*12 philips screws

M4*25 self-drilling screws

M5*8 inner hex pan head bolts

M5*10 combination bolts (with nut and washer)

M5*12 philips bolts

M5*25 philips bolts

M6*15 philips bolts

M6*15 inner hex head bolts

M6*15 stepped screws

M6*45 inner hex half pan head bolts

0.8N·m

2.0N·m

2.0N·m

2.0N·m

3.0N·m

6.0N·m

6.0N·m

7.0N·m

7.0N·m

8.0N·m
8.0N·m

10.0N·m

10.0N·m

10.0N·m

13.0N·m

13.0N·m

13.0N·m

13.0N·m

15.0N·m

15.0N·m

5.0N·m

5.0N·m

M8 flat bolts

M8*15 inner hex pan head bolts (with 360° thread sealant)

M8*15 inner hex pan head bolts (with 360° thread sealant)

M8*15 inner hex pan head bolts (with 360° thread sealant)

M8*20 inner hex pan head bolts (with 360° thread sealant)

M8*20 inner hex pan head bolts

M8*20 inner hex bolts (with 360° thread sealant)

M8*100 inner hex pan head bolts (with 360° thread sealant)

M8*200  inner hex pan head bolts (with 360° thread sealant)

08



09 10



11 12

Regular Charger Models

Model Applicable voltage
platform

Maximum output
current Output power Charging plug

24V-50A 50A
100A
150A
200A
100A
150A
200A
250A
100A
150A
200A
250A

1.2KW RemaXX/customizable

RemaXX/customizable

RemaXX/customizable

RemaXX/customizable

RemaXX/customizable

RemaXX/customizable

RemaXX/customizable

RemaXX/customizable

RemaXX/customizable

RemaXX/customizable

RemaXX/customizable

RemaXX/customizable

2.4KW
3.6KW
4.8KW
4.8KW
7.2KW
9.6KW

12.0KW
8KW

12KW
16KW
20KW

25.6V
25.6V
25.6V
25.6V

38.6V/51.2V
38.6V/51.2V
38.6V/51.2V
38.6V/51.2V
76.8V/83.2V
76.8V/83.2V
76.8V/83.2V
76.8V/83.2V

24V-100A
24V-150A
24V-200A
48V-100A
48V-150A
48V-200A
48V-250A
80V-100A
80V-150A
80V-200A
80V-250A

Model of charge and discharge plug
Charging plug model Connection cable Max. sustained current Peak passing current

Rema320 MALE
(With auxiliary contact) 185A~270A

Max. sustained current

185A~270A
148A~185A

148A
225A~270A
148A~185A

225A
148A

400A-600A@25S

Peak passing current

400A-600A@25S
300A-500A@25S

300A@25S
400A-600A@25S
300A-500A@25S

600A@25S
400A@25S

50~95 square

Connection cable

50~95 square
50~35 square

35 square
70~95 square
50~35 square

70 square
50~95 square

Type of discharge plug
Rema320 FEMALE
Rema160 FEMALE
Rema80 FEMALE

ANDERSON SB350
ANDERSON SB175

ANDERSON SBE320
ANDERSON SBE160



13 14



15 16



1817

保修政策 The Warranty Policy

Quality Warranty Provisions
5.1质量保修规定

1  本手册的所有规定适用于所有BSLBATT生产并销售的锂离子电池包（电池系统）。
2  在质量保修期内BSLBATT对其认可量产电池系统的质量缺陷引起的故障，由BSLBATT提供质量保修服务。
3  对于超过质量保修期的产品BSLBATT提供有偿服务。
4  任何不属于BSLBATT责任的故障，均不在质量保修的责任范围内。
5  在质量保修期内，由BSLBATT免费更换来的故障件产权归BSLBATT所有。
6  除中国法律的强制性规定外，本手册规定提供的质量保修服务是本公司对客户承担的唯一责任。

1 All provisions of this manual apply to all lithium ion battery packs (battery systems) manufactured and 
    sold by BSLBATT.  
2  BSLBATT shall provide quality warranty service for the failure caused by quality defects of the mass production 
    battery system approved by BSLBATT during the quality warranty period.  
3  BSLBATT provides paid service for products beyond the warranty period.
4  Any failure that is not the responsibility of BSLBATT is not covered by the quality warranty.  
5  During the warranty period, the defective parts replaced by BSLBATT free of charge shall be owned by BSLBATT. 
6  Except for the mandatory provisions of Chinese laws, the quality warranty service provided in this manual is the 
     sole responsibility of the Company to customers.  

**BSLBATT在法律许可下拥有对本手册的最终解释权，保留修改本手册的权力，如有变动恕不另行通知。**

**BSLBATT reserves the right of final interpretation of this manual and reserves the right to modify this manual 
    without prior notice.**

Quality warranty liability exemption scope
5.2质量保修责任豁免范围

1  未按本手册的规定进行正确使用、保养、检查产品而导致的损坏。
2  连接器、接插件等未安装到位而造成的损坏、进水、锈蚀等。
3  使用未经BSLBATT授权许可的充电设备或充电操作不规范而导致的损坏。
4  踩踏、重压、跌落、撞击等而导致的损坏。
5  未经BSLBATT授权，私自改装、加装、拆卸电池系统导致的损坏。
6  动力电池系统发生故障时，客户未经BSLBATT允许私自对故障处理而导致的损坏。
7  不可抗力因素，如地震、台风、洪水、化学污染、雷击、冰雹、泥沙、飞石、火灾或人为的故意损坏等因素导致的损坏。

1 Damage caused by improper use, maintenance and inspection of the product in accordance with the provisions 
    of this manual.   
2  Damage, water inflow, and corrosion caused by improper installation of connectors and connectors.    
3  Damage caused by using charging equipment not authorized by BSLBATT or non-standard charging operation. 
4  Damage caused by trampling, heavy pressure, falling, impact, etc. 
5  Damage caused by modification, addition and removal of battery system without authorization of BSLBATT. 
6  When the power battery system fails, the customer deals with the failure without BSLBATT's permission and causes 
     the damage.   
7  Damage caused by force majeure factors, such as earthquake, typhoon, flood, chemical pollution, lightning strike, 
     hail, sand, flying rock, fire or man-made intentional damage.  

BSLBATT对如下情况不提供质量保修服务∶

BSLBATT does not provide quality warranty service for∶



www.lithiumforkliftbattery.com www.lithiumforkliftbattery.com19 20

Subscriber Data
5.3用户资料

Warranty Period 
5.4质保时间

Records Of The Warranty
5.5保修记录

质量保修期以BSLBATT与客户购买约定的起始日为准；
动力电池系统质保5年或者正常使用10000小时，以先到者为准，
由于使用不当或储存等其他因素造成电池系统非常损坏，属非保修范围。

The warranty period shall be subject to the starting date of purchase agreed between BSLBATT and the customer.  
The power battery system is guaranteed for 5 years or 10,000 hours of normal use, whichever comes first.  
The improper use or storage and other factors that cause the extreme damaged of the battery system,which is not 
covered by warranty, is not the scope of warranty 

产品型号/ Model
产品编号/ Item NO
购买日期/ Purchasing Date
顾客姓名/ Customer Name
联系方式/ Contact Information

序号

Serial 
Number 保修

日期 故障及处理方法
Fault And Handling MethodsThe Warranty 

Date 完成
时间

Completion
Time 顾客

签名

Customer
Signature


